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NODAL SOLUTION
Step = 1
Sub = 1
FREQ = 100.439
USUM   (AVG)
RSYS  = 0
DMX = 6.701
SMX = 6.701

(d)

NODAL SOLUTION
Step = 1
Sub = 2
FREQ = 122.948
USUM   (AVG)
RSYS  = 0
DMX = 9.725
SMX = 9.725

NOV 18 2006
    11: 50: 32

NOV 18 2006
    11: 49: 55

(c)

NOV 18 2006
    11: 52: 56

NODAL SOLUTION
Step = 1
Sub = 3
FREQ = 144.842
USUM   (AVG)
RSYS  = 0
DMX = 7.979
SMX = 7.979

(a)

NODAL SOLUTION
Step = 1
Sub = 4
FREQ = 151.435
USUM   (AVG)
RSYS  = 0
DMX = 10.517
SMX = 10.517

NOV 18 2006
    11: 51: 58

10.517

(b)

1.773 2.66 3.546 4.433 5.32 6.206
7.093 7.9790 1.169 9.3480 4.674 5.8432.337

7
7.011 8.183.5060.8866

5.212 7.9790 0.744565 4.322 5.403 6.483
7.564 8.644 9.7250 1.081 2.1612.978 3.723 4.467 5.9571.489 2.23

4
3.242

Fixed
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